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   LChild(David, John)   RChild(Diana, John)  
 LChild(Tom,   Diana)  RChild(Ruby,  Diana)  
 RChild(Mary,  David)  LChild(Bill,  Mary)  
 RChild(Peter, Tom)   RChild(Fish,  Ruby) 

,4&%& LChild(X,Y)3&$*0 8X (0 %&0- ,12%' of Y9 $*.
RChild(X,Y)3&$*0 8X (0 32(1- ,12%' of Y9:

4"0&3&",& 56%&/7
     R1. Child(X,Y) if LChild(X,Y) 
     R2. Child(X,Y) if RChild(X,Y) 

136 17 2345*6 ;%$, $ 85$3(-1 2%&&9 /$0&. "* 24& 5$<2 /$0& '()&*: =>* 24& 85$3(-1 2%&&96
24& 8<4(-.9 (0 .%$,* 7&%#$ 24& 8?$%&*29 ,(24 $%%", 5%"3 ?$%&*2 2" <4(-.:@ 

186 17 2345*6 A*0,&% 24& 5"--",(*' B#&%(&07 =*" *&&. 2" 04", 24& 02&?0@

    ?LChild(Mary, David)     9.*:)40 ___________________ 

    ?RChild(X, Diana)      X = ______________________ 

    ?Child (Y, John)           Y = ______________________ 

1;6 1$ 2345*6 C()& (*5&%&*<& %#-&=0@ 5"% 24& Descendant %&-$2("*04(?
,4&%& Descendant(X,Y)3&$*0 8X (0 '&/,&"'+"- of Y9 $*.

     R3: Descendant(X,Y) if   

1<6 17 2345*6 A*0,&% 24& 5"--",(*' B#&%17 =*" *&&. 2" 04", 24& 02&?0@
    ?Descendant(Peter, Tom)  Answer: __________________ 
    ?Descendant(W,David)  W = ______________________ 
    ?Descendant(Fish,Z)  Z = ______________________ 
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